T— 43 R
(1) A5 Yo i W 00 7 oy 1 22 5 5
OF M E G 3 4H)
Wikl 9o (SO FHIMHE)
N 1 BRES 1REHEN EMao 15%151{@75\ S
F | BYAE| £ F | 0.1ppm% | 0. 04ppm & | 1 BiE | BThED 2ELLERLT - o L
B E B B ¥ B BirEELe VAL 1 NE&[E oA 0. 04ppm % (45
E WEE WEE BikiLORE
(R) (ppm) (R | () | (B) | (%) | (ppm) | (ppm) | Hx - &O | (EHO- KERX)
H24 365 0.001 0 0.0, O 0.0 (0.025| 0.004 @) O
ii;f?z H25 363 0. 001 0 (0.0 O 0.0]0.022| 0.004 O O
H26 362 0. 001 0 (0.0 O 0.0]0.034| 0.005 @) O
_ .|H24 365 0.004 0 0.0, O 0.0 {0.024 | 0.007 @) O
;;gi H25 363 0. 001 0 (0.0 O 0.0 ]0.035| 0.004 O O
H26 363 0. 001 0 (0.0 O 0.0 ]0.035| 0.005 @) O
—W{LEFR (NO : FMIHE)
3 BEMAE . 1 B E EMD1BFEY
A% R I AR FrAE DEEE | fED 98%I(E
I3 (H) (BFFE) (p pm) (p pm) (p pm)
H24 362 8,646 0.003 0.113 0.012
¥$E H25 364 8,718 0.002 0.095 0.014
H26 361 8,674 0.002 0.075 0.008
H24 364 8,702 0.004 0.119 0.016
A—BET
ABB R H25 363 8,696 0.004 0.200 0.021
H26 363 8,699 0.003 0.07 0.011
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“girESHE (NOso @ FHHE)

TRTYEN | 1RTHEN D .
F 0. 06ppm % |0. O4ppm bit| 1 EFREME | 1 BEY REEE
. B % B FE FEHE L N & DB
BIE B BitA%L (0. 06ppm UT| D= B En .
E t0gs | oRnrzogs 989% f&
(FF ) (ppm) | | o) | (B) | %) (ppm) (ppm) | (EFO- FEH x)
Ho4| 8,646 0.012 0 [0.0] 0 [00]| 0. 061 0. 024 O
ffﬁﬁ Hos| 8,718 0.011 0 0.0 0 [00]| 0 061 0.023 O
Ho6 | 8,674 0. 009 0 00| 0 00| 0046 | 0018 o
i |H24| 8,702 0.014 0 0.0 0 [00| 0060 | 0 027 O
;;é’,i Ho5| 8,696 0.013 0o 00| 0 |00 0067 | 0029 O
H26| 8,699 0.012 0 00| 0 [00| 0046 | 0 021 o
FlEki R ME (S PM @ 4 [ fH)
\ X | BEYE
o I I O I K
g | FRRE & F 0208 mI010w/ LT EES L | com
, A% i f8 | sBAKEERC | sEirEEme | - | fEO) 2% ‘ :
BIE B 203 . i 1= 1B 0 [l 2 AULER (REMEE)
& LECENE- &
(8) (mg/m) (BE) | %) | B) | (%) | (mg/m) | (mg/m) [(Ex -EO) |(EHO- #EHx)
Ho4| 349 0.025 | 0 00| 0 |00/ 0.190 | 0.058 O o)
ﬁff?E H25| 361 0.027 | 6 |0.1] 3 |0.8] 0.258 | 0.065 x x
Ho6| 364 0.026 | 0 (00| 0 |00/ 0197 | 0.064 O o)
) |Hoa| 365 0.032 | 0 (00| 0 |00/ 0170 | 0 064 O O
;;éi H25| 361 0.024 | 5 |0.1] 1 03] 0.305 | 0.059 o x
H26| 361 0.023 | 0 00| 0 |0.0] 0.174 | 0.053 O o)
% [H24| 362 0.025 | 0 00| 0 |00/ 0.185 | 0.058 O o)
NER o5 262 0.026 | 8 |0.1] 1 |04 0.289 | 0 111 o X
Ho4| 362 0.022 | 0 00| 0 |00/ 0.143 | 0.048 O o)
iifﬁ H25| 358 0.022 | 0 [0.0] 0 |0.0/| 0.156 | 0.051 O o)
H26| 361 0.019 | 0 |0.0] 0 |0.0] 0.150 | 0.037 O o)
= ¥ [H25| 70 0.028 | 0 00| 0 |00/ 0133 | 0.070 O
AR \gog| 358 0.026 | 2 |0.0| 0 |0.0] 0.254 | 0.062 O x
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WKL IR E (PM2. 5 : AR1H)
« BEHED A%
BEHRE | &£ F  |BRYES 5. 0p/mE| 1 BRIED S
Tl am ¥ & Giranc0ls | BEIE I8hiE EDLR
> AAIC 5 B = ..
8% i > (E8HFE)
E () (4g/md) (8) (%) (ig/m3) (itg/m3) (ER0- %EAx)
H24 9 20.2 0 0.0 31.6 31.6
¥ O®™m
s 25| 361 19.3 31 8.6 101.0 48. 0 x
H26| 360 19.0 24 6.7 226. 0 44. 2 x
H25 91 21.5 1 12.1 90 43.5
S
=gy 5
H26| 358 19. 4 25 7.0 262 40. 4 x
= ¥ |H25 70 17.2 6 8.6 82 42.0
PER (o] 356 19.3 26 7.3 290 44. 1 O
WeAbE A E L2y~ (O x 4 RE)
BRI | B R | B0 ERES |BEO1EEEY | B R o | REMoOES | . ..
gl | " - i EE
I B | Bl F [0. O6ppm% | 0. 12ppm it 1B {E = 1 BEE -
e . B | B RN | BirERCEEY | ORRLEEY NESE | 0ETHE 3
=1 (A (&) B | (BH) | (B | (B#) (ppm) (ppm) (ERO- xEfx)
- Hoa| 365 | 5,427 | 104 | 593 | 0 0 0.115 0. 050 x
hespr [H25| 365 | 5,462 | 58 | 274 | 0 0 0.101 0.043 x
Ho6| 365 | 5,453 | 87 | 530 | 0 0 0.104 0.049 x
Hoa| 365 | 5,462 | 79 | 418 | 0 0 0.105 0.048 x
2 —3F
T nems [H25| 365 | 5463 | 85 | 477 | 0 0 0.113 0. 048 x
Hoe| 365 | 5,461 | 83 | 471 | 0 0 0. 100 0.048 x
= 3 |H24| 360 | 5.367 | 88 | 436 | 0 0 0.102 0.048 x
I
Hos| 292 | 4,345 | 84 | 516 | 0 0 0.114 0. 050 x
Hoa| 365 | 5,467 | 84 | 418 | 0 0 0.103 0.049 x
5 Hos| 362 | 5,412 | 79 | 441 | 0 0 0.117 0.048
. . X
GES '
Hoo| 365 | 5,449 | 78 | 458 | 0 0 0.104 0. 048 x
= 3 [Hos| 71 | 1050 | 11 | 42 | o 0 0. 081 0.048
PR Hoe| 359 | 5.338 | 78 | 394 | 0 0 0.108 0.048 x

) FEMo 1 AFEHME-- 1TEBICPZ2 1 REED 1 A SFEHHE
2 %BRAME-FH D1 BFEHEOREmNTD 2 %DOHHNICH D DO ERWT-#% O K EE
98% Ml - EM D 1 B EHWHE DR NE I 20D 8% DHEWENIZH DL DD H B D & @l
B 5N D 20 ETEZ VD
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@H e

—BR1ELNES (SO2: AREE)

HAR : T R26 4 H ~ FR2743A
CAIER) AEEH 48 [ 58 | 68 | 78 [ 88 | 98 (108 (118 |12 | 1A [ 28 | 3A | R&t
W R AXAIEB# 30 31 29 31 31 28 31 30 31 31 28| 31| 362
B 7E BF A 715\ 742|710 741 739 689 740 718| 742| 741 668 742| 8687

¥ {E (ppm) 0.001| 0.002| 0.001| 0.001| 0.001] 0.001| 0.001| 0.001| 0.002| 0.002| 0.002| 0.002
1E5FEIAY0.1ppm% B X 1= B 4K 0 0 0 0 0 0 0 0 0 0 0 o o
1B F91EA%0.04ppmZEHE A - B E 0 0 0 0 0 0 0 0 0 0 0 o o

1EFEHE D =& fiE(ppm) 0.032| 0034| 0014 0017 0028] 0.015| 0.025| 0.016] 0018] 0012| 0.008| 0030|

13 E1E DR = fE(ppm) 0.008| 0.005| 0.002] 0.003| 0.006/ 0.004] 0.006| 0.005| 0.005| 0.004| 0.004| 0.011
A—BETABK|AMAE B 30 31 30 31 31 28 31 30 31 31 28 31] 369
B E BFE 715 742 718 742| 739 690 741| 714] 742 741 666] 742] 8692

4B (ppm) 0.002| 0.002| 0.001| 0.001| 0.001] 0.001| 0.001| 0.001| 0.002| 0.003| 0.001| 0.002

1B5REAHY0.1ppm#% B - B REI 3K 0 0 0 0 0 0 0 0 0 0 0 )

18 T 9{EH0.04ppmZEHE X 1= H K 0 0 0 0 0 0 0 0 0 0 0 o|

1B B D &S E(ppm) 0.032| 0.035| 0.014| 0.011| 0.019] 0.013| 0.026| 0.014| 0.014| 0.011| 0.008| 0.028

1B F{EDZRE B (ppm) 0.008] 0.007[ 0.003| 0.003| 0.004] 0.003] 0.006/ 0.005| 0.004| 0.005| 0.004]| 0.011

51



—BRIL=E R (NO: AREIE)

HAR : T R26 4 H ~ FR2743A
CRITE B AIFEIER 48 | 58 | 68 [ 7A [ 8A | 98 | 108 |11A [12A [ 1A | 2A | 38 | R&t
W R AXAIEB# 29 31 29 31 31 28 31 30 31 31 28 31| 361
B 7E BF A 703 742 710 741| 739 690 741| 718 740 740| 668 742| 8674

14 {iE (ppm) 0.001| 0.000 0.001| 0.001| 0.001| 0.001| 0.001| 0.003| 0.004| 0.003| 0.002| 0.002

15 fE1iE D T = fiE (ppm) 0.018| 0.010( 0.008 0.021| 0.013| 0.010| 0.019| 0.047 0.059 0.075| 0.040| 0.042

18 F 5B D& & fiE (ppm) 0.002| 0.001| 0.002] 0.006]| 0.004| 0.002] 0.003[ 0.011| 0.011] 0.013| 0.008| 0.008
ZA—BETAZBXK|EBIEBH 30 31 30 31 31 28 31 30 31 31 28 31] 363
8 7E B P 718 741 718] 741 740 691| 742| 713 742 742 669 742| 8699

14 {iE (ppm) 0.002| 0.001] 0.001] 0.002] 0.002] 0.002| 0.002| 0.004| 0.005| 0.004| 0.003| 0.002

1EFREHE D Fx = B (ppm) 0.026| 0.019 0.014] 0.036| 0.023[ 0.019] 0.026| 0.070| 0.064| 0.056| 0.047| 0.047

15 ¥ 5B D& fiE (ppm) 0.004| 0.003| 0.003] 0.008| 0.006/ 0.004] 0.006| 0.014| 0.015| 0.012| 0.011| 0.009
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“BIEE=EFR (NO2: AME)

HARS : F R 26E48 ~ E 2743 B

CRITE B AIFEIER 48 | 58 | 68 [ 78 | 8A | 98 |10A [11A (128 | 1A | 2A | 3A | Rit
W R AXAITEB# 29 31 29| 31 31 28 31 30 31 31 28] 31| 361
B 7E BF A 703| 742 710 741 739 690| 741 718 740| 740 668 742 8674
14 {iE (ppm) 0.010| 0.008| 0.007| 0.006| 0.006[ 0.008] 0.009| 0.011| 0.012| 0.012| 0.012 0.010
1B5EMiE D T = fiE (ppm) 0.039( 0.028| 0.023| 0.026] 0.024| 0.025| 0.029( 0.036 0.045| 0.037| 0.039| 0.046
1B F BN & {E(ppm) 0.015| 0.014| 0.012| 0.013| 0.012( 0.014| 0.014| 0.019[ 0.021| 0.019| 0.020[ 0.019
1B RS HY0. 2ppm% #8 Z =B R &K 0 0 0 0 0 0 0 0 0 0 0 0 0
1BFF5 H%0.1ppm L _E 0.2ppm LA T D B sl £t 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 4l H%0.06ppm%E B2 1- B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B F ¥ AY0.04ppmLL _E0.06ppm LA T D H 34 0 0 0 0 0 0 0 0 0 0 0 0 0
Z—BET EAEBH 30| 31 30 31 31 28] 31 30 31 31 28| 31| 363
ABXK B 7E B R 718] 741] 718] 741| 740| 691 742] 713 742| 742] 660] 742 8609
35 {E(ppm) 0.013] 0.011| 0.010] 0.007| 0.007 0.010] 0.012] 0.014| 0.014| 0.015] 0.014] 0.013
1B &S E(ppm) 0.044| 0.032| 0.027| 0.031| 0.028] 0.028| 0.038| 0.041| 0.040| 0.041| 0.041] 0.046
1BEHED RS E(ppm) 0.019] 0.019 0.016] 0.014| 0.014| 0.017| 0.019] 0.022[ 0.022| 0.022| 0.024] 0.021
1EFRS N0 2ppmZ #8 Z =B RS 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RS A%0. 1ppm LA _E 0.2ppm LU T 0D B FE1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHY0.06ppmZE #BZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1 H S 15{E A%0.04ppm L £0.06ppm LL T B 4 0 0 0 0 0 0 0 0 0 0 0 0 0

53



ERE1EY (NOx: AREIE)

HARE : T R26 F4 A ~ FR2743A
CRIE S AIEIEHE 48 | 58 | 68 [ 7A [ 8B | 98 | 108 | 11A (128 [ 1A | 2A | 38 | A&t
R AR ADBIEBH 29 31 29 31 31 28] 31 300 31 31 28] 31| 361
B 7E BF A 703 742 710 741| 739 690 741| 718 740 740| 668 742| 8674

T {E(ppm) 0.011| 0.008| 0.008| 0.007| 0.008] 0.009| 0.010| 0.014| 0.015| 0.015| 0.014| 0.012

1EFEHE D =& fiE(ppm) 0.042| 0.032| 0.028| 0.041]| 0.025| 0.028| 0.036| 0.074| 0.104| 0.102| 0.059]| 0.069

H BN &= BE(ppm) 0.016 0.015| 0.014| 0.017| 0.014] 0016/ 0.015| 0.028[ 0.031| 0.029| 0.023| 0.024

AEH{E NO2/(NO+NO2) (%) 92.3] 949| 911/ 830/ 830| 91.6/] 879] 815] 772/ 825 853] 865
A—BETABXK|EHBAEBH 30 31 30 31 31 28 31 30 31 31 28 31] 363
I 7E BF A 718 741 718 741| 740| 691 742 713| 742 742 669 742] 8699

I3 {E(ppm) 0.015| 0.012 0.011| 0.009| 0.009] 0.012| 0.014| 0.018| 0.019| 0.019| 0.018| 0.015

1E5EiE D Tz = i (ppm) 0.065| 0.046| 0.036| 0.046] 0.047] 0.043] 0.048] 0.092 0.092 0.087| 0.068] 0.073

A ED & BE(ppm) 0.022| 0.022| 0.018| 0.018| 0.017] 0.019] 0.023| 0.036| 0.036| 0.029| 0.031]| 0.029

AFE{E _NO2/(NO+N02) (%) 87.4) 884| 8700 77.3] 783| 855/ 837 765| 721 794] 81.3] 838
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234 T RIS (SPM: B A1)

HARS . FRE264 B~ FRE2743H
BIE B BIFIEH 48 [ 58 168 | 78 |1 8B | 9A (1o (1181128118 | 2H | 3R £
R AR HXAIFE B 30 31 29 31 31 30 31 30 31 31 28 31| 364
B s 717)  742] 711 740| 740 717| 740 716| 741| 743| 670| 743] 8720]

I #5{E (mg/m3) 0.026] 0.034| 0.031| 0.023| 0.016] 0.023] 0.025| 0.025 0.023| 0.028| 0.029]| 0.025
1B HY0.20mg/m3% B2 - B RE %k 0 0 0 0 0 0 0 0 0 0 0 | o
1H FEH{EA0.10mg/m3% B % =A% 0 0 0 0 0 0 0 0 0 0 0 of q

|1 B (i D £= = {B (mg/m3) 0.063| 0.103| 0.172[ 0.091| 0.064| 0.059] 0.197| 0.091| 0.112] 0.100| 0.095| 0.142

1B EHE DR S fE(me/m3) 0,045| 0.071] 0.073] 0.064] 0.037] 0.047] 0.061] 0.044! 0,053 0.058| 0,068| 0.071
ZA—BET A K| EZNBIE B 30 31 30 29 31 30 31 30 29 31 28 31] 361
) 7E B P 718] 743 719 717| 741 718] 742 712 717] 743| 670 743] 8683

14 {E(mg/m3) 0.024| 0.032| 0.026] 0.022| 0.015] 0.021] 0.023| 0.022 0.021] 0.023| 0.025| 0.023
189 H%0.20me/m3% B X 1-FERE 34 0 0 0 0 0 0 0 0 0 0 0 o] )|
1E|:Fi’J1|_75\010mg/m3§$_z7‘— B 0 0 0 0 0 0 0 0 0 0 0 o o

= = {E(mg/m3) 0.063| 0.078] 0.151| 0.077| 0.064| 0.060| 0.174| 0.078| 0.081| 0.094| 0.073| 0.132

1E|$ﬁ{@2§_§_{@<mg m3) 0.042] 0063 00711 0055 0034l 00411 0053 0041 0046 0048| 0050| 0.067
HEALdZER |ERAEEH 30 29 29 29 31 30 31 30 29 31 28 31] 358
| 7E B B 719] 7271 710[ 715| 742 719] 742 717[ 717] 743| 671| 743] 8665

I #5{E (mg/m3) 0.028| 0.036/ 0.031| 0.025| 0.018] 0.023| 0.027| 0.024| 0.023| 0.027| 0.028]| 0.025
1B A30.20mg/m3% #BZ - R 3K 0 0 1 0 0 0 1 0 0 0 0 o] 2
18 #4918 H010mg/m3% B Z H-HA #K 0 0 0 0 0 0 0 0 0 0 0 of o

1B R E DR = E(me/m3) 0.115| 0.132| 0.205/ 0.087| 0.079| 0.078| 0.254| 0.126/ 0.097[ 0.134| 0.083]| 0.121

10 FEHE OB EHE(ne/m3) 0050l 00751 00750 00621 0039 0044] 00721 0044l 00531 0056l 00611 0069
=R AnBlFE B 30 31 28 29 31 30 31 30 31 31 28 31] 361
3BI] 7 B 719 743| 695| 712| 741 719] 741 7170 738 741| 671 742] 8679

15 {E(mg/m3) 0.023| 0.025| 0.021] 0.021] 0.016] 0.022] 0.019] 0.018/ 0.012 0.018| 0.015| 0.016
1BFREA%0.20mg/m3% #3.% 1- B %K 0 0 0 0 0 0 0 0 0 0 0 o )|
15 Elzt’Jﬂ_fJ\o 10mg/m3% #2 2 f- A% 0 0 0 0 0 0 0 0 0 0 0 o o

= = {E(mg/m3) 0.061| 0.075| 0.125] 0.062| 0.057| 0.095| 0.090| 0.068| 0.150| 0.139| 0.058| 0.087

1E|S|Zt:11 Q%Eﬁﬁ(mg m3) 0,040l 0044! 0053l 00351 00371 0035 0034 0034l 0029 0042] 0033] 0042
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FAEFEA XA (Ox: AREIE)

HAR : T R26 4 H ~ FR2743A
AER AIEIEE 48 | 58 |68 | 78 | 88 [ 98 |108 |11A | 128 | 18 | 28 | 38 | &t
R R BRE®AIE B 30 31 30 31 31 30 31 30 31 31 28] 31] 365
RE D BIE R 447 465| 442| 465| 462| 450 465 450| 465 462| 420] 460] 5453
BREID1BFEED B F15{E(epm) 0.047) 0.055 0.041| 0.029] 0.024| 0.037 0.034| 0.026] 0.023| 0.025| 0.027| 0.039
BREID 1B RE{EAY0.06ppmZEFBZ 1- B # 17 26 8 6 2 12 8 1 0 0 0 7 87
BRI D 18 E{EHY0.06ppmZ% B R 1= 14K 115 220 45 37 3 46 27 3 0 0 0 34] 530
REID 1B REEHY0.12ppm L ED B 1 0 0 0 0 0 0 0 0 0 0 0 0 0|
B FE0 1B REHEA10.120pm bl L D BERA SR of o of o of o o of o of o o o
BED 1B {E D = fiE(ppm) 0.092| 0.104| 0.09| 0.096| 0.065 | 0.091| 0.076| 0.067 0.052 0.057| 0.053| 0.101
RED&E1FEED FH{E(pm) 0.065| 0.074| 0.055 0.044]| 0.035/ 0.057] 0.053| 0.043| 0.037] 0.037| 0.040[ 0.053
A—BET7ABXK|BREDBIE B 30 31 30 31 31 30 31 30 31 31 28 31| 365
B E D I 7E B 3 450 465| 450| 465| 463| 450 465 446| 465 462 420| 460] 5461
BRED 1EEED A F1#{E(pm) 0.045| 0.054| 0.039] 0.029| 0.023| 0.033] 0.032| 0.024| 0.022| 0.024| 0.027| 0.036
B D 18R E{EHY0.06ppmZE B Z - B # 17 27 9 7 1 8 7 0 0 0 1 6 83|
RS 1B {EHY0.06ppmZ #B% 1= BRI 5 93| 211 48 38 2 28 17 0 0 0 1 33| 471
BN 1R E{EHY0.120pm L LD HE 0 0 0 0 0 0 0 0 0 0 0 0 o
BRI 1B RHEAY0.12ppm bl _E 0D BE %K of o o o o o o o o o o o d
BRED1EEIED RS E(pm) 0.090] 0.1 0.09] 0.088| 0.067[0.080]0.076 | 0.057[ 0.051| 0.055| 0.062 0.097
RE®D s f] 16 0D £ #5916 (ppm) 0.063| 0.073 0.053| 0.043| 0.034] 0.053] 0.049| 0.040] 0.036 0.037| 0.041] 0.051
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FAEFEA XA (Ox: AREIE)

HAR : T R26F4 B ~ F 274 3A
GARES) BIFIEH 48 | 58 |68 | 78 | 88 [ 98 (108 |11 1128 | 18 | 28 | 38 | &5t
=R BREDAIE B 30 31 30 31 31 24 31 30 31 31 28 31] 359
EY ok hdisink 450] 449 441| 465| 464 354 465| 450| 465 463 418] 454] 5338
BRED1FFE{ED A F191{E(ppm) 0.044| 0.049| 0.040] 0.028| 0.023| 0.035| 0.034| 0.026 0.024| 0.024| 0.030| 0.042
REID 1B {EN0.06ppmZE B % 1= A3k 14 24 5 6 2 8 8 1 0 0 1 9 78
RED1EREEN0.06ppmZ B % 1= B2k 86 157 18 29 2 26 23 2 0 0 1 50] 394
BRED 1B {EH0.120pmLL ED B2 0 0 0 0 0 0 0 0 0 0 0 o] o
B[O 1B B 4°0.1 200m Lt O B T 2 0 0 0 0 0 0 0 0 0 0 0 o o
RE D 1BE{E D &= B (ppm) 0.089] 0.095| 0.085 0.074| 0.064] 0.074| 0.074| 0.066| 0.053| 0.053] 0.062] 0.108
BRE D &5 1EE{ED FH{Eppm) 0.061] 0.068] 0.053] 0.041]| 0.035/ 0.054| 0.052] 0.043| 0.037| 0.037/ 0.044| 0.059
HEidZER |REQAIEBL 30 31 30 31 31 30 31 30 31 31 28 31] 365
B D B E B 28 450 465| 435| 463| 463| 450| 465 450[ 465| 463] 420| 460] 5449
BRED1BE{ED B F 15 {B(ppm) 0.048| 0.056/ 0.039] 0.029| 0.023[ 0.033| 0.033| 0.026| 0.024| 0.025| 0.028| 0.039
RED1EREED0.06ppmZE 2 Z - B 17 26 9 7 2 8 3 0 0 0 0 6 78]
BRED 1B EH0.06ppmZF B Z 1= 5k 104| 214 35 37 4 25 9 0 0 0 0 30] 454
BRED1BERE{EDN0.120pm L E D HEX 0 0 0 0 0 0 0 0 0 0 0 0] 0|
EF'HEJONE#F'EEJL#O 12ppmuJ:o) B RS % of o of o of o o of o of o o o
0.084| 0.103| 0.075| 0.084| 0.071] 0.079] 0.07| 0.058| 0.047| 0.050| 0.058| 0.104
meﬁﬁ;ﬁ(mm) 00651 00751 00541 0044] 0033 0052 0048] 0040 0035 0036 0040| 0.052
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WNBIFIRYE (PM2. 5: ARKEIE)

HARE : SE 2654 B~ FE 27538

BIED BIFEIER 48 | 58 65 1H 8H 98 (108 [ 118 128 | 1A | 28 | 3A | &&t

YR AR AATEBH 30 31 29 29 31 30 31 30 29 31 28 31] 360
I 7E R 717) 743| 711 715 741 719 739 719] 717| 743 671] 743] 8678
F1iE(u g/m3) 209 26.3| 21.6] 157 10| 17.7 21| 183| 17.4| 195/ 20.7| 187
1HEHEDZEE((# g/m3) 36.0| 488 | 526 416| 283] 354| 522 | 325| 440| 39.3| 37.3| 552
1HFHEAS5 4 g¢/m3ZiBA -8 1 6 4 2 0 1 3 0 1 3 2 1 24
1B EfEA5 4 g/m3FH X =B & (%) 33| 194 138| 69| 00| 33| 97| 00| 34| 97| 71| 32
IREED RS E(W g/m3) 51 67| 120( 52| 48[ 48] 226 71| 100 79 66[ 116

=R ER ABIEBH 30 28 28 29 31 30 31 30 29 31 28 31] 356
B 7E B 719] 718 690 715 743 719 737 719 717| 743| 671 743] 8634
T {E( 1 g/m3) 17.6] 21.4| 205| 152 104 166 25| 237 19.3 211 216 194
1HEHEOREE(L g/m3) 32.6] 422| 452 395| 271 332 719| 46.2| 424 418| 377 547
1B TIEA35 1 g/m3THAT-BE 0 2 3 1 0 0 7 3 3 3 3 1 26
1HFHEA35 4 g/m3ZEREZ -EIE(%) of 71| 107 34 0 0] 226 10 103] 97 107 3.2
1EFEE D =B g/m3) 88 66] 141 50 58 62| 290 146 70| 110 63| 101

AEhhER | EMAEBH 30 31 28 29 31 30 30 30 29 31 28 31] 359
B 7E B 719 743| 694 713] 743] 719 732 719] 716] 743 671] 743] 8655
T {E( 1 g/m3) 222] 269 193] 16.1] 11.3] 195 19.4] 179 194 21.1] 209 19.2
1HEHEOZEE(L g/m3) 404 51.6| 475 404 33 42| 333| 386 47| 3838 35| 54.9
1R TIEA35 ug/m3ZHBAT- B 5 4 2 2 0 2 0 1 4 4 0 1 25
1HFH{EA35 4 g/m3ZREZ F-EIE(%) 16.7] 12.9] 7.1 6.9 of 67 of 33 138/ 129 0 3.2
1REEQ&ESIEW g/m3) 62 67| 91 51 58| 66| 78] 76| 262 93] 90| 138
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(2) AEXABRIEIERSR PR 2 6 FIE TRANR LI CHE) BT ue/m?
BIEEL T o 1f%ﬁ%k . BRI
OV 1.1 0.60 2.1 3
N7 === o PV 0.060 (0.021) 0.16 200
PARNZ/A=1=1= v 0.071 (0.028) 0.18 200
vrimm AL 1.3 0.62 2.3 150

OWFhOWE &4 12 M OHE
KOE R T IRMEAT R T IR i (i) & 3&KE
et T RRAEATm I (<R TRRME) &KL
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